How does CS end up producing R ?
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Suppression Ratio:
Typical range between:
0.5 (no learning; equal responses before and during CS)
0 (complete suppression of behavior)
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Suggest that something is still there after extinction.
Put another way:

Extinction is NOT the loss of learning, but rather,
it is additional learning

Summation Test

din

€COr¢

R el [ I |
T T [

Recording Spontaneous Activity "

Action Potential

Hyperpolarization

Action Potential

A kT

Depolarization

A N

Inhibitory conditioning

CS —@

CS+ CS-

Excitatory conditioning

CS —>US




Discrimination Training
A —US
B —

A — US
AB —
(better)

How to know if no learning, or if conditioned inhibition ?

20
18
16
141
124
CR 10+

ersae

A (CS+) B (CS-)

o -

Summation test: CS— reduces CR produced by a CS+
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